
 
 

 



 

 

 

 

 

( 2⁄   Mpa) σ

σm =  PMax
A⁄



 

 

 

𝜎𝑚

𝑃𝑀𝑎𝑥

 

W2−W1

W1
 x 100 %

𝑊1 𝑊2

 

(
gr

cm2⁄ ) =
m

V

 



 

 

 

→

→

→

→

 



 

 

 

0

5

10

15

20

25

10 20 30

C
o

m
p

re
s
s
iv

e
 S

tr
e
n

g
t 

 (
M

P
a
)

Slag Subtitution (%)

Slag Mesh 80 Slag Mesh 100 Slag Mesh 120

0

2

4

6

8

10

12

10 20 30

P
o

ro
s
it

y
 (

%
)

Slag  Substitute (%)

Slag Mesh 80 Slag Mesh 100 Slag Mesh 120

0

0.5

1

1.5

2

2.5

3

10 20 30

D
e
n

s
it

y
  

(K
g

/C
m

3
)

Slag Subtitution (%)

Slag Mesh 80 Slag Mesh 100 Slag Mesh 120



 

 

 

 



 

 

 


